Stage 4 Questions
If tu is the subject of a regular verb, then that verb ends in ___-s____.

If ego is the subject of a regular verb, then that verb ends in __-o_____.

If Quintus is the subject of a regular verb, then that verb ends in __-t____.

The subject of the verb sum is ___ego____.

The subject of the verb es is ___tu_____.

Choose the correct verb:

ancilla in tablino (works).  _____laborat________.

Ego vinum (drink).  ___bibo___________. 

Metella in cubiculo (sleeps).  _____dormit__________.

Tu canem (have). ____habet__________.

Choose the correct subject:

____ego_____ laetus sum.

____Syphax_____ venalicius est.

___tu______ bibum bibis.

